N of reco track vs dxy [\ of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

2] F 1%} [%] F (%]
< r " x r X - x
[=] I N [=} I [} L Q
£10°F : g I g
E o o 10 o
s 2 % E I
10°F bl L o
E E 3 3
E H E 107" 3
10°F - 10°F E
E : b 10%f-
10°F 10°F :
3 3 10F-
10F 10F E
I ik ¥
L1
i
Y T : =
0 =5-10 -5 0 5 10 15 20 %50 -15-10 5 0 5 10 15 20 085 =15 -0 5 0 5 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
L2 R E kY g2
[=] I [=} I [} Q
£10° £ £ £
(] (] Q
E 3 §
104 = 2
[=%
3 10
10°
10?
10
1
k- - Greetes
o v o +w Pl PSP P o v e
& ¢ ¢
i - [ RREEETEREEE o & <% Shl EEEEE IR
093520 -0 0 10 20 30 0¥ =20 -10 0 10 20 30 10 20 30 0¥35 20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


